Name: Four digit addition (Skill 62)
Four digit addition

1) 1959 + 1891 = 11) 7608 + 7536 =

2) 4889 + 8984 = 12) 1512 + 1738 =
3) 6218 + 2534 = 13) 7233 + 7150 =
4) 3696 + 1883 = 14) 9614 + 8622 =
5) 6602 + 7635 = 15) 4442 + 9067 =
6) 2690 + 2420 = 16) 5873 + 9269 =
7) 2020 + 3856 = 17) 1293 + 5953 =
8) 7889 + 5717 = 18) 9799 + 1039 =
9) 4925 + 7386 = 19) 7675 + 4059 =

10) 1110 + 9848 = 20) 4975 + 5610 =

Answers, fold under: Mark your work when you have finished.

1) 3850 6) 5110 11) 15144 16) 15142
2) 13873 7) 5876 12) 3250 17) 7246
3) 8752 8) 13606 13) 14383 18) 10838
4) 5579 9) 12311 14) 18236 19) 11734
5) 14237 10) 10958 15) 13509 20) 10585
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